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Topic:- General Knowledge

1) is India’s first dedicated space observatory launched by ISRO. /
TR GRT UATId Y 1§ YR &1 uyH FAfdd iafver Ju=mar g1

1. ASTROSAT / T

2. CARTOSAT / BTENIT

3. Chandrayan I / 5T

4. Chandrayan II/ &AM 11

Correct Answer :-

« ASTROSAT / TRRIC

2) Which place in Madhya Pradesh is known for ‘Festival of Dances’? /
TS H DI AT I T Heledd' $ g 1 S1an 382
1. Khajuraho / @@Tl_ﬁﬁ

2. Dhar / YR
3. Mandu / HIUg

4. Chanderi / T

Correct Answer :-

» Khajuraho / @TIRIE-T

3) Which among the following rivers DOES NOT originate from the Himalayas? /
FrafafEa afeat 3 A feaer seu feuraa A At gan 32

1. Yamuna / g1

2. Godavari / TGIaR!

3. Brahmaputra / SeTq

4. Ganga / T

Correct Answer :-

« Godavari /T Q Gp}

4) Which Indian won the IBSF World Snooker Championship in 2015? /
5T URdTg A 2015 H ASdTaT® fay Jow ARy oY s
1. Brijesh Damani /W@Fﬁ

2. Manan Chandra / H99 d<%



3. Subhash Agarwal / JHIY UdTT
4. Pankaj Advani / Ul Srearoft

Correct Answer :-

« Pankaj Advani / Ul 3TSaroft

5) Which of the following is the most populated city in Madhya Pradesh? /
Frafafea & @ o= 91 a9 v o1 99 fie Smard) arem Wwer 32

1. Indore / saﬁ?

2. Bhopal / T

3. Jabalapur / STIITTYY

4. Gwalior / TdTfeRR

Correct Answer :-

e Indore/ 3@?

6) Which of the following states does not share its border with Madhya Pradesh? /
FrafafEa &/ o1 a1 v waudr & ary o W aren T8 s 32
1. Gujarat / J[SIRTd

2. Maharashtra / HERTY
3. Bihar/ ﬁB'R'

4. Rajasthan / TSTRITT

Correct Answer :-

« Bihar /S8R

7) Which team did India beat in the final of ‘Nidahas Trophy T20 cricket tournament’ held in March 2018? /
ATd 2018 ® ARG FgTeT™ gt o fibde gafie’ & wig—a § R A {5 &9 &1 e farar ae
1. Pakistan / UTfahdT=

2. Afghanistan / ST

3. Bangladesh / FRATG

4. Sri Lanka / 8 @1

Correct Answer :-

. Bangladesh/a"a oy

8) In terms of area, Madhya Pradesh is the largest state of India. /

HTPA S RACA, AT YRADT  JaAd gSIIT gl
1. 4t/ 2y
2. 2"/ GERT
3. 15t/ Ugan



4, 31 RRT
Correct Answer :-

. 2nd/m

9) The famous ‘Kalidas Samman’ from Madhya Pradesh government is NOT given in which of the following fields? /
A TSR PR B 3R A TR Fifererd S o Frafafea &= o 9 feasd =151 foar srar g2

1. Classical music / QR Gt

2. Classical dance / [RAT G2

3. Theatre / TR

4. Literature / Tfgcd

Correct Answer :-

o Literature / ET%?I

10) is a place in Bihar where Gautama Buddha is said to have obtained enlightenment. /
_ferd e wmE g, e IR § w1 91 § 6 9@t war g @1 39 o vt g8 9
1. Bodh Gaya / SreAT

2. Arrah / 3RT

3. Motihari / HIfdgRY

4. Rajgir / RUSRIE

Correct Answer :-
» Bodh Gaya / ST

11) Yuki Bhambri is associated with which of the following sports? /
ol vt Freff@a aaf A A R g3 gu @

1. Tackwondo / TSI

2. Judo / BT

3. Ball Badminton / STcl ?rsﬁlf:{

4. Lawn Tennis / @ -9

Correct Answer :-

« Lawn Tennis / @ ¢

12) Who was the first woman speaker of the Lok Sabha? /
AHTHT B Ugell Afgen il (@e) i At

1. Rajkumari Amrit Kaur / IISTHH 8y SHHd DR
2. Meira Kumar / HRT PHR

3. Najma Heptulla / T5THT gUged

4. Sumitra Mahajan / ﬁ&l’?ﬂ HelolH

Correct Answer :-



« Meira Kumar / HRT PHHR

13) Who led the ‘Rani Lakshmi Bai’ regiment of the Indian National Army? /

et Tt R ) e eveah A ¥Rt 31 e e
1. Vijayalakshmi Pandit / faoraaesht dfea

2. Lakshmi Sehgal / GRS

3. Sarojini Naidu / BRIl g

4. Kasturbha Gandhi / P¥JRdT et

Correct Answer :-
o Lakshmi Sehgal / a&;ﬁ qeild

14) Who among the following is the only batsman to score three double-hundreds in One Day International cricket? /
o gty sieRigia firde & F1F Qev-3a® a9 ol T fAarst A A A s 82

1. Rohit Sharma / ﬂ%ﬂ 'QITI‘T

2. AB De Villiers / Tl fSfaferasd

3. Chris Gayle / g Tl@

4. Virender Sehwag /dﬁ_ﬁ' Hqedl

Correct Answer :-

« Rohit Sharma / Jfgd 2@l

15) Who among the following is the youngest Indian chess ‘Grand Master’? /
Frafifed & & $17 91 Fad Bler URdta Ao s aReR 32

1. Suraj Grower / W‘Jﬁﬂ?

2. Sundararajan Kidambi / RIS [CALE|

3. Abhijeet Gupta / S{TESHd TGl

4. Parimarjan Negi / giATSH 7t

Correct Answer :-

» Parimarjan Negi / giHATSH 7t

16) Who among the following was the first Field Marshal of India? /
frfafEd 3§ @ o1 WRa & yyw Bies Aia 42

1. K.M. Cariappa / &.TH. SRS

2. S.F. Rodrigues /W.W.ﬂ%’ﬁ

3. Sam Manekshaw / S TGN

4. VK. Singh / 9., R&ig

Correct Answer :-

e Sam Manekshaw / A AAHT



17) Who is the current captain of the Indian women's cricket team? /
WRHTg wfgen frde & ot adae swe 14 82

1. Poonam Raut / TTH I3d

2. Mithali Raj / ForaTent X1al

3. Shikha Pandey / ForaT qTU8g

4. Anjum Chopra / GiTz],T{ Eh'EI?,T

Correct Answer :-

« Mithali Raj / fodTeft I161

18) Who is the present Chief Election Commissioner of India? /

HRA & FeiA g frafes smge (e sawe FHieR) $19 §2
1. Om Prakash Rawat / 311 UGBTI I1ad

2. Nazim Zaidi / TolH S}

3. Achal Kumar Jyoti / 3¢l HR St

4. Ashok Lavasa / 321d AQT

Correct Answer :-

« Om Prakash Rawat / 3{TH UehTST rad

19) Who is the present CEO and MD of Infosys? /
SHIRMT & dar HSait ok TSt A 32

1. Vishal Sikka / f=rer Ryerept

2. Ravi Venkatesan / Ifd 92

3. Salil S.Parekh / Hfele] TH.URH

4. Pravin Rao / UdI0T @

Correct Answer :-

« Salil S.Parekh / Tfeld T.URRG

20) Who won India’s first medal at the 21%* Commonwealth Games 20182 /
zﬁwgﬁw@?ﬁ(ao‘”mﬂﬁwﬁm) 2018 ¥ YRE BT YUYW U fHaA Siar
1. S. Nataraj / . S

2. P. Gururaja / at. RER S|

3. Sanjita Chanu / FSitdl T,

4. Mirabai Chanu / fﬁ'ﬂa'l_it El5S

Correct Answer :-

e P Gururaja/tﬁ. 2RI

21) Who has been awarded the ‘Bharatiya Jnanpith’ for the year 2017? /



94 2017 # “HRH IS’ | fbd wwafara foar war?
1. Raghuveer Chaudhary / T‘fz{aﬁ? e

2. Ravuri Bharadwaja / T@ﬂ HRgIS

3. Krishna Sobti /W@a_(ﬁ

4. Chandrasekhar B. Kambar / Eii‘\; W . FER

Correct Answer :-

« Krishna Sobti / G H&ciT

22) ‘The Quit India Movement’ was launched in which of the following years? /
frafafed auf 4 @ feud <wRa Sis! s Y= fovar mar a2

1. 1947

2. 1942

3. 1945

4. 1939

Correct Answer :-
o 1942

23) ‘Tansen Samaroh’ is held in district of Madhya Pradesh. /
AHT HHARIE' BT TS A9 Yo% & ford & fpar sman &1
1. Bhopal / uare

2. Bhind / fHS

3. Gwalior / TaTIARR

4, Rewa /a1

Correct Answer :-

« Gwalior / TaTfeRR

24) ‘Sharad Joshi Award’ is given in which of the following fields? /
A Wi TR Frmferte 4 & @ R 7 v R o
1. Classical music / IR1g It

2. Poetry / I

3. Essay, memoir, satire writing / ﬁaﬂ, GERUT, g NECE|

4. Visual art / ©G hdl

Correct Answer :-

 Essay, memoir, satire writing / ﬁlﬁ'ﬂ, R, g NECE|

25) ‘Simhasth Kumbh Mela’ takes place on the bank of river in Madhya Pradesh. /

A US| T4t & de W Rigw $H AT A1 B



1. Chambal / JHIcT
2. Tapti/ et

3. Kshipra / faron
4. Betwa / &cal

Correct Answer :-

e Kshipra/ farom

26) ‘Ramakrishna Mission’ was founded by Swami Vivekananda in which of the following years? /
IHH Wl fiRr &Y W1 W@t fadere g Fafafea # & foa ad 9 o) vt &

1. 1892

2. 1897

3. 1937

4. 1939

Correct Answer :-
o 1897

27) Bachendri Pal is known for: /
TIE U B §HD T ST AT 3
1. Mountaineering / tlé?ﬂﬂE'UT

2. Swimming / LRG|

3. Table tennis / C8d ¢

4. Cricket / fohape

Correct Answer :-

» Mountaineering / YIaRIgu

28) Ustad Bismillah Khan was a player. /
IS fafRrea @, v ae® Y

1. tabla / &l

2. shehnai / 3213:“_5c

3. veena / 4T0T

4. sitar / RIAR

Correct Answer :-

¢ shehnai / [ 5‘

29) Whose autobiography is titled as ‘Wings of Fire’? /
fraa STyt &1 e fF offts wrR” 32

1. Mahatma Gandhi / HGIHT et



2. Jawaharlal Nehru / STATgR ATd A8
3. Subhas Chandra Bose / gHTY Tg CI8]

4. A.P.J. Abdul Kalam / TUT S, 3fegel hallH

Correct Answer :-

« A.PJ. Abdul Kalam / T.U1.Sl. 3egd Hemd

30) PIN code system was introduced in India on i
YR A sl yomell | @ wwarfaa gs dh

1. August 15, 1972 / 15 37 1972

2. August 15,1982 / 15 3{71Xd, 1982

3. August 15, 1962 / 15 3T, 1962

4. August 15, 1992/ 15 3T, 1992

Correct Answer :-
o August 15, 1972 / 15 3TRd 1972

31) The members of Parliament can express themselves in the House in which one of the following languages? /
e ¥ Hew Wy &I we ¥ fFafifea wmareit # | fra urar & sifiorad #v 9@ d 72

1. English, Hindi or mother tongue / 3, %‘cﬁmmqmm

2. English only / Had 3l

3. Hindi only / a4 fgat

4. Mother tongue only / WIIFJW

Correct Answer :-
« English, Hindi or mother tongue / 35St fgdt a1 ATqHTST

32) Who among the following is the highest wicket-taker in Test cricket? /
¥ fipdhe # walfys fade o aren ) FAfaf@a A d s 82
1. Muttiah Muralitharan /Hilmarcﬁ?m

2. Courtney Walsh / I At

3. Brian Lara / ST ¢IRT

4. Shane Warne / 9 i

Correct Answer :-

e Muttiah Muralitharan /HWWW

33) ‘Ramcharitmanas’ was written by ./

RTARTHT g feret it ot
1. Kalidas / S1ferer
2. Tulsidas /ﬂﬂ@'&'ﬂ



3. Kabir / &R
4. Ravidas / Xfderg

Correct Answer :-

« Tulsidas / TGN

34) The largest and oldest museum of India is located in which of the following states? /
Frafafea =l 7 9 foa & WRd &1 9ad 98T 3R 9 RET @UsTed Rid 82

1. Madhya Pradesh / A& U

2. West Bengal / Ufgr &I

3. New Delhi / 75 faceht

4. Maharashtra / HgRTY

Correct Answer :-

« West Bengal / Uf&# e

35) Which of the following cities is known as 'Garden City of India'? /
frfafed el # & f5d v ot A R & 9w & o ST 32

1. Lucknow / TS

2. Indore / 3@?

3. Bangalore/%"l?ﬁ?

4. Shimla / Rraar

Correct Answer :-

« Bangalore / STT@AR

36) Which state cancelled 15 public holidays in educational institutions in 2017 to increase academic session? /
P T I A AP T3 F1 e F fore 2017 A Rrgror TR # 15 Irdwife srae= I ¥ 3 fear?

1. Assam / 3IH

2. Madhya Pradesh / A UG

3. Uttar Pradesh / TR UG

4, Bihar / [98R

Correct Answer :-
« Uttar Pradesh / TR UG

37) Which ex-India player was awarded an honorary life membership to the Marylebone Cricket Club (MCC) in
May 201772/

e gd-uRdia et &t ug 2017 ¥ 989 fvdre 7aa (@i @Y are Sitaw e & gwnf=a far war a2
1. Rahul Dravid /T@ﬂ?ﬁg
2. Gopal Sharma / TaTd XA



3. V.V.S. Laxman / d1.91.TY. G&A0T
4. Sourav Ganguly / TR Tl

Correct Answer :-

« V.V.S. Laxman /a?.a?.w. TEHTT

38) The central government has informed the Supreme Court that unique identification number will be provided
for which animal? /

F5% WHR 7 Gy w1 31 gfra far 8 fr o ugy ot sifgdia vgam e vem & smet?
1. Goat / St

2. Horse / 9IST

3. Cow /T

4. Camel /WW

Correct Answer :-
e Cow /1T

39) The highest award for services to the development of cinema is given in the name of which famous
personality? /

R & faery & forg arsit ¥g S=auw R, fara ulis safdra & 9 w fear wimar 82
1. Guru Dutt/ ¥ ad

2. Raj Kapoor / XS R

3. Dadasaheb Phalke / GlGNITed Bledh

4. Satyaijit Ray / g X

Correct Answer :-

. Dadasaheb Phalke / GIaTITed Wledhs

40) The 19th edition of ‘Commonwealth Forestry Conference’ was organized in which of the following states? /
TgHST AT TR BT 197 e, Prafiiaa oal # | e amaifora fvar mar um

1. West Bengal / Uf3H &TTel

2. Manipur / AfOTQR

3. Maharashtra / HERTY

4. Uttarakhand / STRIRES

Correct Answer :-

« Uttarakhand / 3TR1GS

41) The only Indian to win Nobel prize in physics is: /
Wit & Ted RER S+ aTd THa HRAH

1. Dr. H.J. Bhabha / ST. TS, HTHT

2. Dr. Vikram Sarabhai / ST. WW“—I’I’Q‘



3.Dr. J.C. Bose / SISl &9

4. Dr. C.V. Raman / SI.41dt. 399

Correct Answer :-

« Dr.C.V. Raman/SI.1.dt. TH4

42) Name the folk dance of Madhya Pradesh. /
T YT & Ab I BTAI 8

1. Ghoomar / YHR

2. Raut nacha /13d AT

3. Matki / Aieeh!

4. Bihu / fag

Correct Answer :-

« Matki/ AcH!

43) Professor Amartya Sen is known for his work in which of the following fields? /
WHER et O o) Frafafed &= & @ frad o ord & g s sirar g2

1. Geology/'ﬁ@i‘lﬁ

2. Electronics /ﬁ@ﬁﬁ

3. Economics / 3{=I

4. Biochemistry / SId Y91

Correct Answer :-

« Economics / 3=

44) Dr. M. Balamuralikrishnawasa ./
SITUAANRAIPUITE ]

1. Hindustani vocalist / %leﬁ ipea)

2. Carnatic vocalist / e TS

3. Tabla player / &Il dlgdh

4. Flute player / a\m digd

Correct Answer :-

« Carnatic vocalist / BIlcd TP

45) Which of the following is NOT considered as a classical dance of India? /
fFrafafea o 3 f5a ve yRd =t o 78 | s 82

1. Kuchipudi / $FIgS!

2. Chhau / 913 (9%)

3. Kathak / ®Ydh



4. Bharatanatyam / HXd-ICIH

Correct Answer :-

e Chhau/ B3 (B)

46) ‘Vijay Diwas’ is celebrated every year on ./
TS Y Y o feaw wAmT S 3|

1. 15t December / 1 f&E=R

2. 8t October / 8 3faCaR

3. 16t December / 16 feTw=R

4. 21t November / 21 FdeR

Correct Answer :-

« 16 December / 16 fTGT=R

47) Which among the following Indian Prime Ministers was born in Madhya Pradesh? /
fFrafafEa 3 @ e yrd wuresh &1 o7 g wedwr | gor um?

1. Charan Singh / TR0 g

2.V.P. Singh /.4, Rig

3. Atal Bihari Vajpayee / 3cd fagRt areradt

4. Chandra Shekhar / Tg RRaR

Correct Answer :-
« Atal Bihari Vajpayee / 3 fogRt arerodt

48) ‘Indian School of Mines’ (now IIT) is located in ./
'$¥T @ 3T W= (39 MgITE) A Rl

1. Dhanbad / Y-Idlq

2. Hajipur / B'ITrﬁQT

3. Tatanagar / CICTTTR

4. Gaya /Tl

Correct Answer :-

o Dhanbad / Yddlg

49) Which of the following districts of Madhya Pradesh is famous for ‘Gotmar Mela'? /
T g1 & Fufaf@a R & & #1931 Meur dar & e ulirs 82
1. Alirajpur / &I?ﬁ?'lﬁl'ER

2. Betul / Sgd
3. Khargone / ECRUIE]

4. Chhindwara / f&carsr



Correct Answer :-

« Chhindwara / f&cars

50) Who is the author of the epic poem ‘Padmavat’ written in 1540 in Awadhi dialect? /
Saeh Fielt & 1540 W e 71 HgTHTo HiAAT UgHEGT F AP DI 82

1. Kabir / PER

2. Amir Khusro / 3R w

3. Abdul Rahim Khan-e-Khana / 3{egc] /A WH-T-GTHT

4. Malik Muhammad Jayasi / Hfcie HeHa S

Correct Answer :-
« Malik Muhammad Jayasi / Tfcidh HeHa St

Topic:- Science

1) Identify the metal which has the highest melting point and is used to make the filament of electric bulbs. /

?mﬁwﬁmﬂmmﬁﬁm%sﬁ?ﬁM$aﬁﬁmm$ﬁmmﬂ%mm
[

1. W
2. Al
3.Cr

4. Cu

Correct Answer :-
- W

2) Identify the biodegradable material from the following. /
frafafea # 9 st uerd 31 ugae o1

1. PVC pipe / GidIRft U1y

2. Woollen cloth / 3l CAt ]

3. Nylon fishing net / AR Bl ASA tIW%T CISIESINE

4. Plastic article / TIRCH b1 W

Correct Answer :-

« Woollen cloth / 3T DUST

3) Brass is a mixture of: /

daa EREdl forgor %:

1. Aluminium and magnesium /i@ﬁrﬁﬂﬂ 3R TRy
2. Nickel and silver / et 3R @ic}

3. Copper and zinc | PIR 3R i



4. Copper and arsenic / PR 3R DB

Correct Answer :-

o Copper and zinc / PIRR 3R i

4) Which acid is used in the preservation of pickles and other food stuffs like meat and fish? /

3R T4 30 T ATt I | Ud A5l & TR § b 3 1 SUTNT far Sirdr 82
1. Sulphuric acid / W ST
2. Acetic acid/mm

3. Formic acid / BITH® 3
4. Hydrochloric acid / BE@H@W 3T

Correct Answer :-

e Aceticacid /T Jfew o

5) Which one of the following strings produces low pitch sound? /

o ® @ i W & wu fUg afy g sxar 82

1. A string with low tension / ®H d-Id > g1y Udh @:’T

2. A string with medium tension / H&H d-Id & Y TH f@;“[

3. A string with very low tension and large thickness / §gd & H d-Id 3R a?'ﬁ TIeTs & g T f\%"T
4. A string with very high tension / dgd 3= d-ld & Y TH @"T

Correct Answer :-
A string with very low tension and large thickness / gd ¥ d-Id 3R CEl HIers & 1Y Th @A‘

6) Which one of the following substances is not a mixture but a pure substance? /

FrafafEa uerdf & @ $19 w1 v fryor 78 afcs e s uerd @2
1. Petroleum / USITerad

2. Milk / §Y

3. Coal tar / AR®IA

4. Diamond / %ﬁ

Correct Answer :-
e Diamond / _sﬁTf

7) Which one of the following statements is TRUE about an opaque object? /

TP RS avg F IR A FrRIf@d § @ $19 91 0o YT a8 22

1. Tt produces its shadow when placed in the path of light. / dg STAT S~ Pl % TE 3 YD1 & Ty H @7 Sl % I
2. Tt allows light to pass through it. / Ig g W YD &I "1\_31?%[ ot % I

3. It will not reflect any light. / dg m 1} UBT P RIAfld Tt B |

4. Tt absorbs all the light falling on it. / T8 3 TR TS aTel I YT 1 SARNIT PR Al 8



Correct Answer :-
o It produces its shadow when placed in the path of light. / g ST S~ B & o Y UHT & UY T @7 Sl |

8) Which one of the following statements is TRUE about the shooting stars? /

Iewrsel (T =) F TR A Fufif@a A I ST sy I e?

1. Shooting stars revolve around the sun in an elliptical orbit. / 3¢<hI, Eﬁ'\:—f?ﬁ‘f}q oel o {[d% IRI 3R EIH?T gl

2. Shooting stars move towards the earth due to gravity. / S¢bl, T[> & HRUT q%aﬁ DI 3R aaﬁ %I

3. Shooting stars are very small stars moving fast in the sky. / Jehl, HIDIRI o dont aa?r ar ggd [ AR EPIT-'T %I
4. Shooting stars enter the earth’s atmosphere only in the night / 3¢T, ISERER:] q&ﬁ & aw T = R %I

Correct Answer :-
 Shooting stars move towards the earth due to gravity. / 3¢, [o>d & HRUT qa‘:ﬁ CAREIRY aa?f gl

9) Which one of the following statements is NOT applicable for force? /

FrafafEa 3 @ o5 1 $y= 90 & e Suge a8t 32

1. It can change the chemical combination of the body / g e & IqIE JUeH B dad b dl %I
2. It can change the direction of a body / g Udh for 3! fe=n & gea I&hdr % |

3. It can stop abody/%@ﬁﬁqaﬁwwgl

4. It can move abody/qgwm?ﬁ%ﬁ[wal

Correct Answer :-
« It can change the chemical combination of the body / g e & IEe YaioH & gad ghdT |

10) Which one of the following metals should be stored under kerosene in the laboratory? /
frufefaa urgelf # & f6a yarmmer § IR0 & sieR wugia fowar s =nfew?

1.Ca

2. Mg

3.Ba

4. Na

Correct Answer :-

11) Which one of the following materials is used as an abrasive in toothpastes? /

Ul ¥ {5 anrht 3t v sraudf & wu & yaT faan sirar 82
1. Sodium chloride / GIf$TH FIRTES

2. Sodium flouride / TSTH FIRTES

3. Silica gel / RferenT oIt

4. Calcium chloride / HTeRITH FARTSS

Correct Answer :-



« Silica gel / [fcremT oI

12) Which one of the following crops can be grown during the period from October to March? /

fFrafafaa 3 @ $19 W vaa sragar A 9 $1 3rafy & IR IS o1 APl 32
1. Gram / T

2. Groundnut / Il

3. Cotton / U

4. Maize / Hah]

Correct Answer :-

13) Which one of the following elements has a valency equal to zero? /
fraferfEa & & fg Ia o) Jueed I & RER 82

1. Helium / Biferad

2. Oxygen / it

3. Uranium / Ugﬁ'qt[
4. Gold / T

Correct Answer :-

« Helium / gifcra¥

14) Which one of the following elements exists in the liquid state at room temperature (temperature around 30°C)? /
fFrafafEa aal & @ 19 91 9@ F& ATIHE (@ 30°C) W 59 ATRIT H HSg ghar 82

1. Chlorine / TR

2. Helium / giferad

3. Sodium / HIfSTH

4. Gallium / ferem

Correct Answer :-

« Gallium / Tiferg

15) Which one of the following factors is not a cause for soil erosion? /

fFrafafEd sRe! & Q F19 91 FRS, YT 3R HT FRUT 61 82

1. Excessive rainfall / 3/ auf

2. Careless land clearance for construction of buildings / SURGl & At % ferw @W@ E[&-l IRCAR|
3. Desalination / [d@quA

4. Deforestation / azh?ﬂ\?ﬂ
Correct Answer :-

« Desalination / fd@@uM



16) Which one of the following oxides will not turn moist red litmus paper blue? /
frafafea siferss & 9 19 70 1 freww-ua o e & ufvafda 78 v
1. CaO

2. MgO

3.CO,

4. NaZO

Correct Answer :-
. C02

17) Which one of the following objects is translucent? /
fFrafafaa 3 @ o9 W e avg TRuRR 32

1. Oiled plane sheet of paper / afera P B &H e

2. A glass plate painted black / HIch Ue Bl §_§ Uh Cackalrird
3. A steel plate / Uch T sl e

4. Thin colorless glass plate R GRIFUEE] CAEEAR

Correct Answer :-

 Oiled plane sheet of paper / GING] P DI A e

18) Which of the following is NOT a bleaching agent? /
FrafifEa 3 @ oF o faie oRe @i wee) T8 a?
1. Chlorine water / TR SIdl

2. Sulphur dioxide / Heh} ag&ﬁaﬂﬁg

3. Hydrogen peroxide / EE@TTFT ﬁﬂ?ﬂg@’

4. Nitrogen gas /‘TI?RJW%

Correct Answer :-

o Nitrogen gas / 3?; o T

19) Which of the following is the correct symbol for Chromium? /
Fafafea & @ o= 1 Siftas o1 98 wdie 82

1.Cm

2.Ch

3.Cr

4. Cs

Correct Answer :-



Which of the following is not an antibiotic? /

fufafea & @ o1 te ufeife (@ darifes) &t 32
1. Erythromycin / gﬁ?ﬁﬂﬁ?ﬂ:{

2. Morphine / Tt

3. Penicillin / UFIRYTeR

4. Amoxicillin / THIRIRYT

Correct Answer :-

e Morphine / Tt

21) Which of the following correctly describes a desert? /
FrafafEd & @ o141 98 TR & 7-RIA o e Hedl 67
1. Hot and humid /TITCI 3R &ﬂﬁ

2. Hot and dry/TI'Ff@ﬁTW

3. Wet and humid / T8 3TR 3%

4. Moderate heat / H&EH Ee

Correct Answer :-

« Hot and dry / TH 3R T

22) Which of the following plants produce new plants from the roots? /
Fafafed # 9 o199 09, s # & 7T 1Y 3 3ud H3d 372

1. Potato and onion / 3ﬂ§[3h? S|

2. Sweet potato and dahlia / PICERG | 3R giferan

3. Jasmine and champa / AT SR T

4. Sunflower and rose / ﬁ{fﬂ'@ﬂ 3R RNIC

Correct Answer :-

» Sweet potato and dahlia / BT 3R SIfer
23) Which constellation has the name ‘hunter’? /
5 aRTHS A BT A FeX B2

1. Cassiopeia / Hg o

2. Big dipper / forr feur

3. Orion / 3R

4. Ursa major / 3T AR

Correct Answer :-

« Orion / 3RIAT

24) Ian Wilmut and his colleagues successfully cloned a sheep named Dolly, the first mammal to be cloned. Cloning involves
the production of: /



3T faege 3R 3% eIl A B Adrgd® Sidt AT Th U I FaiA fhar, ag uget -yt 4t o «ai= fosan
T | T ® A o1 Saure (iewRm) fAfga @

1. A zygote by the fusion of male and female gametes /R 3R HICT D P YA §RT UH JIHTS
2. An organism through the fusion of cells / PHIRABTN P TAT— & AIemT I Udh Sfa|
3. A progeny from an existing generation /W tﬁ?.ﬁ q TP I

4. An exact copy of a cell, any other living part or a complete organism / Th PIfRrenT, Tt 3= Shifad weT, o EUT\_SﬂH CiRGIED
EIRI

Correct Answer :-

» An exact copy of a cell, any other living part or a complete organism / Udh PifRrenT, fosdt 3 Shifaa wmT, o ‘{Ufﬁﬁﬁ CHRIGIED
gfd |

25) A train travels a distance of 720km with a speed of 120km/h. The time taken by the train is: /

T YS! 120 fpfl/ae 5t arar A 7206 Ft gt au w31 YaS) gR1 feran mar W @:
1.65s/6 DS

2.7.6h/7.66C

3.6h/6HC

4, 12h/1279e

Correct Answer :-

« 6h/6%C

26) In human female reproductive system, the development of baby takes place in the ./

T HIGT YSI=- Yomelt #, 9= &1 A Agarel
1. 0Viduct/3ri?:_c|'|'%:ﬁ

2. ovary / 3SR
3. uterus /mrfszm
4. ovum / ST

Correct Answer :-

o uterus / THiER

27) The application of force on a body enables: /
TS BT UR 96 BT ATUANT Y& I914T 2
1. to start motion, stop motion as well as to change the shape of the body /
T B Y B & T, 1 B A1 3 e W1 & W1 b1 & 3MHR B g b g
2. to start motion of the body only / &Had HeTg Bt 1A B L= PP ]%‘I'Q
3. to stop motion of the body only / FHad Fer 31 1A B e &b ﬁ’l'q
4. to change the shape of the body only / $Had B & HR B! dGa- b ﬁ“l'q

Correct Answer :-

 to start motion, stop motion as well as to change the shape of the body /

T4 B YT BRA & g, 71 Dl b & ferd T &1 W1 (DT o bR Bl daei o fog



28) The gaseous form of nitrogen present in the air is converted into a usable form by the action of ./

91y ¥ IufRya ATgeo &1 g =u FI forar g1 T Suah wu A uikafda far smar 21
1. bacteria/\_rﬂa'l'Ul

2. heterotrophic plants / TRUIYT urey

3. lichens / FITEraT"T
4. algae / Qa1

Correct Answer :-

e bacteria / GﬁaTUl

29) The latent heat of vaporization of water in J/Kg is: /
J/kg ¥ ST6 & AT U1 B [0 SHEAT &:

1.3.35x10°

2.22.60x 10°

3.13.36x 10°

4.6.022 x 10°

Correct Answer :-
e 22.60x 10’

30) The heating element of the electric iron should have i
T fagad 5%l (Fafde® 3ma) & dro ded & ST AfeY
1. low melting point / A% TTeHi®

2. low resistance / 9 UfaRiY

3. high melting point / 3= eI

4. very low density / dgd ®H Y-

Correct Answer :-
« high melting point / 3 TTA-IIh

31) The vibrating part in the human earis ./
WE B H buar R Lok

1. pinna / IPEST (ﬁ:ﬂ)

2. ear lobe / T TIfel (Wfﬁ@)

3. car canal / HU AT (RUX PH-)

4. ear drum/a'TUftlE_S' (BIRGH)

Correct Answer :-

« car drum / Ul UCE (IR 1)



32) The mean temperature for a given month is: /

1. The average of the temperatures recorded during the month / R & R &Sl dIIAM &7 3d

2. The average of monthly average temperatures over many years / ﬁ ot & FIRIe 3N T T SiTd
3. The minimum temperature recorded in a month / Tch ﬂ‘s‘ﬁ | Eﬁ YAdH dIgHA

4. The highest temperature recorded in that month / 3¥ TR H gof I=aH araHH

Correct Answer :-

» The average of monthly average temperatures over many years / $_5: st & HIfies 3N T & SiTd

33) The range of temperature in the clinical thermometer is from: /
et (@efrea) yafieR & aroam ot drar e g R

1. 94°C to 108°C / 94°C ¥ 108°C

2.35°C to 42°C / 35°C ¥ 42°C

3. 35%F to 42°F / 35°F ¥ 42°F

4. 42°C to 50°C / 42°C ¥ 50°C

Correct Answer :-
o 35°C to 42°C / 35°C ¥ 42°C

34) The quality of sound produced by a person depends on: /

fordt safe gRT IauTfed eafsy 1 7urawn 59 R Ak w=edt @

1. the thickness of the vocal cord only / SRR GE] (ﬁﬁ ﬁé) Gl ﬁl?l’if

2. the length of the wind pipe only / Ryt zarg et (ﬁ?s’ EIEL)] P F’IWI_S;

3. the tightness of the vocal cord only / LRI GE] (dTObﬂ GFT@) o d1a

4. the tightness, thickness and length of the vocal cord / BILGES (H\W ﬁ@f) | d-Id, JIhETEc 3R WTEF

Correct Answer :-

« the tightness, thickness and length of the vocal cord / BILGES (GVW EFT_&F) 2| GEICH e 3R ?‘l’@’lﬁaC

35) The quality of air at various locations is monitored regularly by government and other agencies. Which of the following
deteriorate the air quality? /

fafire el W arg $t [uraar R Fafia U A R Td 3 TeiiRa gRT AR @ o 81 Fafaf@a d @ sib
I P I[UTET B gfd Bar 82

1. Travel by car pools / PR Y&l gRT ITAT HIAT

2. Bursting of crackers / TUeRd BT W

3. Planting more trees / 3{AH qm

4. Switch over to alternative fuels / ECARCED g‘t'Ff BT UGN HIA AT

Correct Answer :-

o Bursting of crackers / EEGEIRY S



36) The evaporation of water from the oceans and its return back into ocean is called_ ./
HETHIRI | Ut $T arefiavr 3R HEMRR # a19H TedHR 3 o FET A7
1. Ground water recharge / el H:Tﬁ'\"UT

2. Oxygen cycle / ST Tk

3. Vapour cycle / AT d¢h

4. Water cycle / SIcT dh

Correct Answer :-

o Water cycle / ST dsh

37) The speed of light is: /
YT B AT glell &

1.3x10'0 m/s / 3x10'0 A
2. 3x10° m/s / 3x10° T
3. 3x108 m/s / 3x 108 I
4. 3x10% m/s / 3x10° T

Correct Answer :-
o 3x108 m/s / 3x108 A

38) The pair of contact forces is: /

T gl HT L B

1. Muscular force and frictional force / U= & 3R °eff &/

2. Magnetic force and gravitational force / W T 3R ﬂ?ﬁﬁq CN)
3. Gravitational force and frictional force / ﬂ'\r«ﬁq I 3R gH0r §d@
4. Gravitational force and muscular force / Wﬁ I 3R O=fig 5@
Correct Answer :-

« Muscular force and frictional force / U1 & 3R °eff &/

39) The number of natural satellites for the planet Mercury is: /
Y 78 F e, Wi fas SuuE! #t Wen @:

1. Two /&

2. One / Tdh

3. Four /IR

4. It has no satellite / SHDT ﬁ'a; PR 7-|€3[ _65 |

Correct Answer :-

« It has no satellite / BT ﬁé JUUE Tal B’R I

40) The term ‘pyro’ in chemistry refers to: /



TG AR § 9reg Uy e & el @:
1. Temperature / dTIHTT

2. Light / UDIRT

3. Explosion / fqwmie

4. Fire / 31T

Correct Answer :-

o Fire / 3T

41) The reflectors of the head lights of a motor car is: /
T HIe PR $| 7SSl b WAGP 814 8

1. cylindrical in shape / 3{ThIR T dTATHR

2. convex in shape / 3[HR T 3@d

3. having plane shape / FHT HTHRR CIG|

4. concave in shape / 3P T 3qdd

Correct Answer :-

 concave in shape / HIPR T 3add

42) The mode of heat transfer which DOES NOT require a medium is: /
ST SRV P51 IF T, Ford T AT FT Srazgsdr 781 gidl 8
1. Convection only / FHad g

2. Both conduction and radiation / A 3R fafd=or ]|

3. Conduction only / FHad g

4. Radiation only / &ad fafaor

Correct Answer :-

« Radiation only / &Had fafauor

43) The closed canopy and many layers of vegetation helps to: /

¥¢ faam ok Tt &5t 3% wag H HeTaar PR 5|
1. Protect the animals / EI'-‘{I@ P &

2. Slow down the speed of raindrops /aTﬁ'QT P @ CIEINEIRIGIETS!
3. Increase the speed of raindrops / TR DI @ IR q@

4. Seep down water into the ground / Hﬁf T O B g B 3R EI_Ea'ef

Correct Answer :-

» Slow down the speed of raindrops / & R=1 Bt Tiﬁ D1 AT BT T A

44) The largest planet in the solar system is: /

AR A A qeA TS UE ©:



1. Saturn / [

2. Uranus / q\i—ﬂ
3. Jupiter / Wﬁf
4. Pluto / @\?‘ﬁ

Correct Answer :-

 Jupiter / Q@@Iﬁ[

45) The increasing order of forces of attraction between particles in water, sugar and oxygen is: /
url, it ofR sifeRiter & SO & 9 TR YUT Sl T dgdl A §:

1. Oxygen < water < sugar / SRS < Sfd < =T

2. Oxygen < sugar < water / SRS < T < ofd

3. Sugar < water < oxygen / T < 99 < fTRiTSH

4. Sugar < oxygen < water / N < ST < o

Correct Answer :-

» Oxygen < water < sugar / SIS < ot < It

46) The motion which is repeated at regular interval of time is known as: /
T oY T F PR SidRTd IR IR-9R T-R1GW 811 8, 98 $eard! :
1. Non-periodic motion / TR-3{Ta TIfa

2. Periodic motion / AT T

3. Uniform motion / ThIHTT Tfa

4. Linear motion / XA T

Correct Answer :-

« Periodic motion / 3TadT Ty

47) The unit of frequency is: /
Mg B §PTS el 8-

1. second / HUS

2. hertz / E'_{Trf

3. metre / T

4. meter per second / Hiex ufd Idhs

Correct Answer :-

. hertz/E:'_(fGT

48) The factor that does NOT affect evaporation is: /
IrfiHRor B U T8 H 916 PRSP 8-

1. Density / I-cd



2. Nature of substance / GGIY &1 5@‘%
3. Temperature / dTYHIA

4. Surface area of the vessel / T T q@ﬁ’q PP

Correct Answer :-
e Density / 99cd

49) The distance covered by a body is expressed by the relation: /
TS (T gRT 99 #1713 g8 &) 39 WY §IRT sy faran wirar 8:
1. Distance covered = time / speed / T BT TS Q_ﬁ =qHY /<l

2. Distance covered = speed x time / dJ I TI_S£ @ =d[d x JHY

3. Distance covered = speed x speed / dJ Gl TI'&F @ =M x dTd

4. Distance covered = speed / time / A EAl TI%: EBOI =9I / JHT

Correct Answer :-

« Distance covered = speed x time / dJ CARIES @ =dIcl x JHY
50) The red planet in the solar system is: /

R Hed § 919 98 ©:

1. Mercury / §Y

2. Saturn / XA

3. Mars / i@l

4. Venus / [P

Correct Answer :-
o Mars / HTd

51) The inner surface of the solar cooker is painted with_____ color. /
AR AR DI ATARBG Iae B FT A U= fparwmar g1

1. black / hTell

2. blue / el

3. red /<l

4. white / TG

Correct Answer :-

e black / DTdl

52) When a pendulum oscillates, the speed of the bob is maximum at: /
W U A e Hdl g, O aid P 91t g8l uR ffrpaw gifi:
1. Mean position /e Rufa

2. Extreme left / 3= 914



3. Extreme right / 3= 1Y

4. A position in between the extreme position and mean position /=R fRufar oik wren fufa & S o s (U

Correct Answer :-

e Mean position / HI] fufa

53) When we keep our hands above the flame of the candle, our hands get heated by: /

SIS §H ST §TY HIHERH BT Al & UL IW @, df G 8141 B 11 & g T forert 3:
1. Convection and radiation / Hdg- 3R fafd=or

2. Conduction and radiation / TTE 3R fafer

3. Conduction and convection / TTAT 3R ag

4. Radiation alone / ad fafaur

Correct Answer :-

« Convection and radiation / Hdg- 3R fafpor

54) When a soap solution is treated with the indicator phenolphthalein, then what would be the colour produced? /

W9 TS WG fAaue & U Adhde BRTawId & |1y Ut f6ar Srar 8, @) @19 a1 31 Safed ghm?
1. Deep red / TgRT &I

2. Pink / T[cTsil

3. Yellow / diar
4, Blue /7‘1 [y

Correct Answer :-

« Pink / TaTall

55) When an electric current is passed through the conducting liquid, we will not observe: /
W9 U fagaq YRT &1 ITa® avd & AIH A TORT o148, O 50 3BT FHRIe0r 981 S
1. Bubbles of gas forming at the electrodes /3@3@3 REAB TS W

2. The deposit of metal on an electrode if a salt solution of the metal is used /

e YIg 1 U qaul [daa SaHTd a1 1 81 dl U galacts UR UTd BT ey a1 Sy gl
3. An increase of temperature of the liquid / dR <l %Wﬁq@

4. A decrease of temperature of the liquid / dX¢l & A H HHT

Correct Answer :-

o A decrease of temperature of the liquid / X<l & AqEE H HHT

56) ‘Stibium’ is the Latin name of the element ./
' fefoaw, T« P AT AR
1. Tin/feA

2. Arsenic / 3D



3. Antimony / Q’ﬁ'ﬁ:ﬁ
4. Zinc / e

Correct Answer :-

e Antimony / ﬁ'ﬁﬂ:ﬁ

57) Root hairs present in the root tip of plants help in: /

Wi & arr & IufRE 7@ | H TeTaT Ya B

1. Penetrating the root deep into the soil / Hal " TI?TI% i KIS & 3fd.HATH

2. Protecting the root tip from damage / gfa g qx DI ETHA

3. Increasing the surface area for absorption of water and minerals / ST¢T 3R TS & ARy B 1%111 Uy easrcm B q@ A
4. Anchoring the plant firmly to the ground / 7Y o qaa:rﬁ q Hﬁf o W

Correct Answer :-

« Increasing the surface area for absorption of water and minerals / SI¢T 3R WSl & 3G B 1%111 Uy éﬂﬁ'qv_c‘f @I q@ A

58) Electromagnet is NOT used in which one of the following devices? /

frefafaa o @ fa ve Suwwu & fagad ga@ gaaeii-e) &1 IuanT -1g far sirar 82
1. Magnetic crane / W Eal

2. Electric buzzer / g@ﬁ%}ﬁ ENN

3. Electric room heater / 3@% xH _GﬁET

4. Electric bell / Salfagd® ©ct

Correct Answer :-

¢ Electric room heater / Eﬂm TH é <X

59) Various types of vegetation and crops that might grow in any region are determined by the ./

fafira R o5t gwufaai ofR wud ot i off & & e e gt gt 8, g1 FAufRa gt &1
1. light energy of the sun/ﬁﬁaﬁww

2. climatic factors only / B Sieldiy dRep
3. climatic factors as well as the components of soil / ST¢TdTg RS & AY-TY Hal & °gem!

4. soil components only / &ad Halgcdh

Correct Answer :-

« climatic factors as well as the components of soil / SI¢TdTY PRSP & IIY-T1Y Hal & gcpl

60) Blood vessels which carry oxygen-rich blood from the heart to all parts of the body is: /
Tad AIRPIY ol §aU A TRIIoH-gad vad &) IR F Wil R A A ot €, = &

1. Veins / QRTQ

2. Capillaries /W

3. Vena cava /a:ﬂ DIdl



4. Arteries / Al

Correct Answer :-

o Arteries / =gt

61) A metal which is widely used for packaging of food materials is: /

TP UTq o1 STahT W yerf #1 3% ¥ e srve v | forar wirar 8:
1. Mercury / URQ

2. Aluminium / SAFTH

3. Zinc / fSiep

4. Copper / GICH

Correct Answer :-

¢ Aluminium / ﬁ@ﬁlﬁm{

62) At present, survival of some animals has become difficult. The major cause is: /
I &, $° USH F ITReNfadr Gipd 81 T3 81 30D §=I PRI S :

1. Illegal hunting or capturing of wild animals / W@Wﬁﬁ &ﬁuﬁmmm

2. Disturbances in their natural habitat / RGEZ m g H 3t

3. Disturbances in the food chain / T 4¥ell T fae

4. Overexploitation / 3AfIH JTHIT

Correct Answer :-

« Disturbances in their natural habitat / 3d> W CISE RG]

63) A convex mirror produces an image which is always ./

T I guur T wiafda aar @ St ghsm g gl
1. real / IRATAH

2. virtual, diminished and erect / HTW, BleT 3R e

3. virtual and enlarged / MY 3R 3ifiyafefa

4. enlarged / ffiyafefa

Correct Answer :-

e virtual, diminished and erect / &Tlﬂ?ﬁ, BT 3R ey

64) Corrosion of metals is a process of ./
oTgel HTHHRU_ F uH ufbar 31

1. Reduction / U

2. Ionisation / 3T

3. Oxidation / S{TeRITEHRUT

4. Hydrogenation / © 33 ST



Correct Answer :-

« Oxidation / 3TeRITHIOT

65) If you touch a metal rod and a wooden rod simultaneously, then you feel that the metal rod is more cooler than the
wooden rod because: /

Ife 3T TP T B TS 3R TH AP S| F! DSl I TP Y WRI B3 &, A 3T TgH R & b U1g Y Os, aPps! It

1. metal is a bad conductor of heat / YT HTHT Gl EEISED gl
2. metal is a good conductor of heat / YT HTHI Gl REISED gl

3. temperature of wood is more than the temperature of metal / ('1d>s.ri I dIUHT UTg & AU I Sferw %I
4. wood radiates more heat energy / m 3T o1 FHoif faRa FHrt B

Correct Answer :-
» metal is a good conductor of heat / YT HTHT Cdl BEINED g

66) During heavy exercise, the breathing rate increases to: /

HIRY AT & R, 49 X H gfs gt &

1. give out more carbon dioxide / K IECACE] m&ﬁaﬂﬁ@: @Sef & 1%111
2. slow down the breaking of food / Hio[ & Q'E%T B N AP ﬁfq

3. reduce the energy availability / Sl ITARIIT Pl g & forg

4. take up more oxygen / AP ST o+ o fag

Correct Answer :-

« take up more oxygen / 3HfIF SfiqioH o & forg

67) Digestion of fats is difficult compared to that of other nutrients in the food because they are ./
YIS ¥ 3 N9 dcdl $t ga-T & 991 T U gied g Fife a g

1. broken down in the small intestine / Bt A A QEef ard

2. insoluble in water and are present as large globules / ST¢T | &rgaq?zﬂa 3R a@f it & =0 H IuiRyd

3. insoluble in water and poor in energy / ST | &W 3R Fooll & TR

4. energy rich foods and are present in large quantity / Ga'_\rﬁq_ER el % 3R TR HIEAT T Iufyd

Correct Answer :-

« insoluble in water and are present as large globules / SI¢T | arga?sﬂa 3R a?‘:’r it & ¥u § Iufyd

68) Certain plants and animals are not naturally found everywhere. They are restricted to a particular area. Such species
are called species. /

PO N SR Uy WIHITS & & 53 S8 g1 UIY oI1d 71 3 U IRy & a & Hifia gid &1 T eforat &t
EEIGRIETIEIGI

1. extinct / ﬁ@
2. exotic / faardia
3. endemic / faRwaEt



4. endangered / ﬁw:

Correct Answer :-

¢ endemic / ﬁﬁq&%ﬁ

69) Vitamins are nutrients which help in keeping our body, eyes, teeth and gums healthy and strong. Which of the following
is not a variety of Vitamin? /

faeTf®e, 98 Nue da & o gUR XK, TG, Fial 3R Ayel &) W U9 Aeigd 941 I8 # Hee #vd ¢ | Fafafaa
T A B 1 faefiE &1 v yoR T8 82

1. Vitamin F / [GeT®F F

2. Vitamin K / faeifiA K
3. Vitamin D / [deTfi9 D
4. Vitamin E / [def®9 E

Correct Answer :-

« Vitamin F / fqe®= F

70) Before storage, crop grains are properly dried in the sun to reduce the moisture in them. This helps in: /
VSR T UG, BHA TSI BT YU & JWTT 1T ¢ aTfs 378 TH 1 8 TF | g A Hedl 8:

1. Losing germination capacity / &W gAT B eI o

2. Increasing the germination capacity / @W & Pl q@ |

3. Decreasing the shelf life / T 3T 1 S dA §

4. Preventing the attack by insects, pests, bacteria and fungi / m, aﬂf, IJFIRT 3R Had GIRT ﬁO_Q BTI@[ HIAPTH

Correct Answer :-

 Preventing the attack by insects, pests, bacteria and fungi / ﬁ%, ﬁ?, SFIRT 3R Had IR ﬁ'TQ m HIAPTH

71) From the distance-time graph, we can find: /

EH-99Y WE |, 9 J1d PY 9P d o:

1. The starting point and the ending point of the vehicle / T8 BT HRH ﬁ'g; 3R 3ifaw ﬁ'g’
2. The nature of the road / TS® B1 1;@—[%[

3. The size of the road / ISh P AT

4. The shape of the path followed by the vehicle / A8 GRT feld T (Wid! fbT 7TT) AW BT HR

Correct Answer :-

« The starting point and the ending point of the vehicle / A8 BT HRH ﬁ'g; 3R Sifaw ﬁ'g;

72) A string vibrates 300 times in 2 second. The frequency of vibration is: /
T YT (M) 2 Vb s | 300 IR HUF T 8 | U= Pt AgRI2:

1. 150 hertz / 150 &S

2. 300 hertz / 300 8CST

3. 600 hertz / 600 BT



4. 2 hertz /2 EiTTT

Correct Answer :-

« 150 hertz / 150 B&ol

73) Water in the aquifers can be usually drawn out with the helpof ./
TAHR | T B STHAR W 1 7eg | fFreTen s wear |
1. canals / FgX (%FI'T?D

2. wells / ?Q

3. ponds / AT

4. tube wells / TAHY (IS Iex)
Correct Answer :-

« tube wells / TAHY (T )

74) If a fire is seen on the switch board in your house, then the first step you should take is: /
IR 3TYS TR H 9 1S TR SIRT o 91l § A 3MUDT HaH gl HeH T ST a1e¢:
1. Pour cold water on the switch board / % &' TR &81 Ut STl

2. Come out of the house quickly / Seg! ¥ O & S1eR Adhd ofg

3. Call the firemen / BTIRHT Y EELY

4. Make the main switch off / {3 R dida R g

Correct Answer :-
» Make the main switch off / J¥I g & S é’

75) What would be the pH value of vinegar solution? /
Re1 & diet 1 diea 9 a1 g2

1. Equal to 7.0/ 7.0 & IR

2. Equal to 10.0/ 10.0 & SRTSR

3. Between3and4/3 94 % &

4. Between 8 and 9 /8 J 9 & &1

Correct Answer :-

« Between3and4/3 94 H &g

76) What is the difference between baking soda and baking powder? /
AT st Td b USSR | FT SR BT B2

1. Baking powder contains tartaric acid and sodium hydrogen carbonate whereas baking soda contains only sodium
hydrogen carbonate. / SThT TIGSR H ¢ 317t U4 G STH BIZSIoT BIeiAe gidT & S afcbt a1 & Paa AfSaH
HESISREACIECACIE]

2. Baking powder contains tartaric acid and sodium carbonate whereas baking soda contains only sodium carbonate. /

BT TSR H eI 31t Td TifguH SraHe gidT & Safe stk OreT & Bad STH Hrai-e gidl gl




3. Baking powder contains sodium hydrogen carbonate whereas baking soda contains tartaric acid and sodium hydrogen carbonate. /

b USSR B D STH FIZS o BIai-e 8IdT & STafeh SfehTT ST H TR 3 Td WSTH 3SIoH PIae gl g

4. Baking powder contains sodium hydroxide whereas baking soda contains potassium hydroxide. / sfpTuReR o
fsTH TTESTRIES BT € Safe AT TrsT & TRy gEslaEs g g

Correct Answer :-

« Baking powder contains tartaric acid and sodium hydrogen carbonate whereas baking soda contains only sodium
hydrogen carbonate. / SfhTT ISR H TR 31 Ud QSTH TSSO BIE-IT 8IdT & Siaidh SfdhT It H had QSTH
BRSO PIEME Bl g |

77) What is the total number of cations and anions present in one formula unit of the compound NaHCO;3? /
QAP NaHCO, F TP T P13 | IUFRIT YATg- Td BUTGA! Pt Hot TSI 771 82

1.2

2.4

3.6

4.3

Correct Answer :-

78) What is the scientific term used for waste water released from homes, hospitals, industries, etc.? /

R, SRaTa, ST 31T | Yo 811 aTal Uiy wiet & forg Suaw fpar S aran agnf=e Weg w1 82
1. Unclean water / TiGT STl

2. Sewage water / qifgaqd od
3. Impure water / 3{R[ex SIcT

4. Drain water / 119 S1d

Correct Answer :-

o Sewage water / qifgadd o

79) Calculate the number of moles in 12 g of oxygen gas. /

12 U SRS TR & A Srupsif (HieT) o1 6T Bt T B |
1. 0.375 mole / 0.375 UTHHJ

2. 6.02 x 1073 moles / 6.02 x 10?3 ATHST]

3. 12 moles / 12 ATHS{T]

4. 2.66 moles / 2.66 UTH3{Y]

Correct Answer :-

e 0.375 mole / 0.375 UTHS3]

80) One centimetre is equal to: /

TP YT 3HP RIS AT 8:



1.0.1m/0.1H
2.0.01 km / 0.01fpH
3. 10 dm / 10SHY

4,10 mm / 10 fot

Correct Answer :-

« 10 mm/ 10 foeft

81) An example of inexhaustible natural resource is: /
S1&1T TP A HHIUT BT TP IaTeI ¢:

1. Coal / HIFAT

2. Mineral / @il

3. Air /&dl

4. Wildlife / 97 SitdT

Correct Answer :-

e Air/8dl

82) An electric cellhas ___ terminal(s). /

T fagga qa o cffa g g1
1. two /G

2. three / F

3. only one /WW

4, four / AR

Correct Answer :-

. two/a

83) A moving bus comes to a stop when the engine is switched off, it is due to the: /

TP TAHT S0 ¥ S1d1 ¢ d IHPT §977 9 PR a1 SI1d1 3, THPT BRI 3:

1. Gravitational force acting on the bus / 9 U GUEREIS Wﬂ EN}

2. Unbalanced internal force acting on the bus / ¥ U UEEIGI| 3@@?{ AR §a

3. Frictional force acting between the tyre and the road / CIOX AR qsdh & & @ arer gy §d

4, Balanced internal force acting on the bus / ¥4 UX SUBEII F’(ﬂ%’lﬂ S IGIRCACK|

Correct Answer :-

« Frictional force acting between the tyre and the road / CIUR 3R qSh & & @ arer gy 9

84) The accumulation of which one of the following is responsible for muscle cramps or fatigue? /
TigufRr # to a1 ¥ F o fFufafeaa 3 | frae vauq iR 82
1. Lactic acid / Qfdee 3



2. Pyruvate / II$%d¢

3. CO,
4. Ethanol / Q?):r”ra

Correct Answer :-

« Lactic acid / Afde 3w

85) Malaria and dysentery are caused by: /
1. Protozoa / UTCISI3MT

2. Virus /ﬁ'EI'I'Ul

3. Bacteria /\_rﬂaTUl

4. Fungi / ®d®

Correct Answer :-

« Protozoa / TGS

86) Kiwiisa___ ./

Caciky: 1

1. flightless bird /HTBGWWU&?[
2. flying bird / 3T Ueft

3. mammal / TG

4. fish / FS!

Correct Answer :-
« flightless bird / AT 3 b arar geft

87) Bleeding gums and joint pain can be prevented by eating foods rich in .

TSI A IR S F @ P WYY @Te e T 49 S AT o HpaT 2
1. Vitamin 8 / fdeTii B
2. Vitamin A / faeTfiT A
3. Vitamin D / f4eTffF D
4. vitamin ¢ / faerfiF ¢

Correct Answer :-

« Vitamin ¢/ fderf®= ¢

88) Anaerobic respiration is also referred as: /
AT B g0 gRT i Hehia fawar wman 3:
1. Glycolysis / Wﬁﬁm

2. Fermentation / fUg=



3. Oxidation / 3TGHIHITT

4. Breathing / I

Correct Answer :-

« Fermentation / fdpUa

89) Which one of the following animals breathes through lungs? /

fFrafifad & @ $19 91 TR, P! P ATHH | i Ad1 82
1. Dolphin/?:f%lﬂ
2. Crab/m

3. Prawn /gﬂTIT
4. Shark / &

Correct Answer :-

. Dolphin/gm

90) Raju contracted chicken pox. To prevent its spread to other members, he should prevent ./
IS ) TP 81 AT 3/ 39 Tl # e A Ada & forg, 3/ ¥ TG99 HIAT 1T
1. drink pure water / %Wtﬂe{

2. houseflies /Wm

3. mosquito bite | He3R PIe

4. direct contact / & TUH HRA

Correct Answer :-

« direct contact / T TUD P

91) The pigment that transport oxygen in human blood is: /

A Yo § SRS P RIHTAR0 HeA aran guie (frde) e @
1. Chlorophyll / FARIA

2. Myoglobin / EIBIESIEE]

3. Red blood corpuscle / €IeT TR HiOrhT

4. Haemoglobin / m‘@ﬁ:{

Correct Answer :-

« Haemoglobin / HERSIICE

92) After the games in school, Ramu felt tired excessively. Which of the following can give energy immediately? /

T & Qe & 16, T P rafie YT wegw g3 | Fufafea # @ o1 oo Sl § ahare?
1. Glucose water/"?j\?b:]\_ﬂqﬁ
2. Food / HIoi

3. Milk / GY



4. Water / ST

Correct Answer :-

 Glucose water /’FEOATGTUT;TT

93) Mushrooms are used in making delicious dishes. Mushrooms belong to: /
HIRSH BT YN WP o= 9411 § fbar T g 1 99-H 599 Hafid g
1. Fungi / ®ddH

2. Vegetables / gfesrar

3. Egg/ 3fer

4. Flower bud / o dl P Bt

Correct Answer :-

e Fungi/Pddh

94) Beetles inhabited a plant that was suffering from a plant disease. As the beetles were not able to feed on
the leaves, they lost weight due to poor nourishment. When the plant overcame the disease, the beetles gained
weight. This case is an example of: /

fleew, Te NY A Yga A Y urey 17 A RET un1 9P fewy uftrl w wieH w33 F g wem T8 A, 3afig @R oy
F PR ITP] a9 HH &1 111 79 Gel F A gR 81 75 ot diewd ST a9 9¢ 7T 9§ HIHAT (A $T TP ISIE0I 3:

1. Genetic drift / Gi'lﬂaT&IEF Eqi?l

2. Inherited variation / ARIFTd TR
3. Acquired variation / 3U Sid aRad=
4. Natural selection / m IJgq

Correct Answer :-

e Acquired variation / Iurfofa aRad=

95) Which one of the following hormones is commonly known as the ‘fight’ or the ‘flight’ hormone? /
fFrafafaa & @ 19 91 eiF AR W) 'BIse U1 "wIT8e §THIF & FU # ST STdT 82

1. Growth hormone / TN BT

2. Thyroxin / YTRIfRT

3. Adrenaline / U 33 NG
4. Testosterone / é@@ﬁ:{

Correct Answer :-

o Adrenaline /U 391 KB

96) Which one of the following features is INCORRECT about arteries? /

freafafae faRuarsit & @ B9 @ v faRva, wmfa & aR & 7aq 82

1. Arteries carry blood from various parts of the body to the heart. / emﬁm’, 9 B IRR & fAfH= 4r 9 gad dob NESIG] %I
2. Arteries do not have valves. / Y=gl & 9Ted :Ingf_&ﬁﬁ %I



3. Arteries are the blood vessels that transport blood from the heart to various parts of the body. / YAt Yad a1y %", S Yad Dl
%2 ¥ IR & = il 9o ugand g1

4. Arteries are thick walled than veins. / a9} Bt LKl o yAtay Ht ?ﬂaﬂ e Eﬁ?ﬁ %I

Correct Answer :-
« Arteries carry blood from various parts of the body to the heart. / yAfat, Iad P IRR & A= Hrn 9 [RIGED o S B

97) Which of the following sets of organisms constitute a food chain? /
Sial & fFrafafed & & #1499 9e, T @RI 491 B7 167 $d 82

1. Grass, wheat, mango / YT, ﬁ—ﬁ;, HH

2. Grass, fish, goat / YT, I@Tfﬁ, gD

3. Grass, goat, human / YT, aﬂ, HMET

4. Goat, cow, elephant / aﬁ, 9, greft

Correct Answer :-
« QGrass, goat, human / Y14, m, AT

98) Which of the following is an acquired trait? /

frafafaa & @ 19 w1 e Sufela dam 32

1. Curly hair / inmé ElN!

2. Six fingers in the left hand / CIE L) " B Jferat
3. Athletic abilities / ATHG ATl

4. Brown eyes / 'H;ﬁ KRGS

Correct Answer :-

« Athletic abilities / FAIH S AT

99) selectthe third trophic levelfrom the following.
Grass = deer =

forfataa 7 & dRR gl TR &1 79 &)
o > e > |

1. Tiger / §TY

2. Eagle / T8

3. Hippopotamus / a’ﬁm% ‘fff@’[

4. Snake / g0

Correct Answer :-
o Tiger/dld

100) The slow process of conversion of dead vegetation into coal is called .
Td aTEfaal & Siad #§ wuiavor s dhft ufeear Heart gl

1. Carbonization / BTE-IHRUT @Iﬁqﬁﬁm

2. Aeration /aTﬁ-f}-[%I'UT ('Qﬁ'Q'SZFD



3. Aromatization / Q? e E@IQ q
4. Polymerization /a‘g'aaﬁaa‘{m(tr“r?ﬂﬁ?%@rmﬂ)

Correct Answer :-

« Carbonization / BTE-IBRUT (HTETSSI)



